Grade 9 Math — Unit 3 Test — Rational Numbers — PRACTICE!

Name: Total:

Multiple Choice - Place the letter of the best response in the blank to the left.

1. Which is a rational number?
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Which rational number is smallest? "'7 '| h\ V\K 0( vev h(‘O\ '
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What is the fraction form of —3.6?
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Which rational number is between —0.28 and —0.277?
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8. What number needs to go in the blank to make the statement true?

(-4.2) +~ __=(-1.5) __q 2 ~1I.5
(A)  —6.3 xX T
(B) —2.8
(D) 6.3
9. Which step needs to be completed first using Order of Operations?

(—9.2) =43 X 2.5 + 53 + (=7.2)
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xL

_\ 5 s__‘-[-_'Kg =.Z|-
10.  Determine the sum: —§+0.5 - -'g + 10 B SKZ 2 %3 b
() -2
(B) _% | glask
5
10) B

1+1=

6

T | W

“Yes, this will be useful to you later in life.”



Constructed Response — Answer all questions and show all workings in the
space provided.
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11. Using equivalent fractions, find 2 fractions between (— zland (— E)K‘S_row all work.
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12. Place each rational number on the num
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13. Evaluate. (4 marks)
(A) —43-72 (B)  (—0.8) x (=3.1)
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14. Evaluate. Show all necessary work and express answer in lowest terms for full marks.
b (12 marks)
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15.  The product of 2 numbers is (— g). If one number is (— E) what is the other number?
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valuate each expression. Show all workings. (6 marks)
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17. A student completed a test question as indicated. Circle and explain their mistake;
then redo the problem correctly. (3 marks)

— they Subtracted before division and multplicakion
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